












































































































Ext Solve 22 x 6 0

x 2 x 3 o

Either act 2 0 or X 3 0

x Z x 3

Ex2 X 6 9 0

x 3 2 3 0

Either x 3 0 or X 3 0

x 3 x 3

Exercise solve

D X 11 28 0

2C 4 x 71 0 Either x 4 0

2 4
Or K 7 0

2 7

2 I 4 21 0

x 3
or 2 2 0

x 3 x y so
Either x 3 0

x 7

3 I 3 18 0 Either x 3 0 or 6 0

x 3 6 O 2 3 2 6

Quadratic Equations







































































































4 I 6 5 0
x 1 x s o

Eth x 1 0 or x g so

2 1 2 5

5 2 5 14 0

x 2 x y o

Either 2 2 0 or xx so

x 2 22 7

6 si 3 4 0 x 4 0

x 1 x 4 o

Either 2 1 0 or

x 4

7 22 11 10 0

x 1 actio so

the 2 1 0 or action

x I x 10

8 x 4 4 0 Either x 2 0 or x 2 0

x 2 E 2 0 2 2 2 2

9 I 3 88 0 Either x 8 0 or 2 11 0
x 8 x 111 0 2 8 x 11

10 I x 30 0 Either x 5 0 or 2 6 0

x 5 2 6 0 2 5 2 6

X2

Ext 6 2 7 2
6 2 12
3 4 Got 3 c tax 2

3 2 1 2 2 1

3 2 2 1

Factorising Quadratic Expressions With Multiple 



Ex 2
2
tax 5

2 5 10

I to
2 É X 10x 5

2 1 562 1

x 5 2x 1

What if I had split the se term the other

way round
2 3 10x x 5

2 6 5 x 5

2x 1 x 5

Ex 4 5 39 10

4 10 40

I 40
4 21 40 10

x 4K 1 to 4 1

xtio 4 c 1

Exercise Factorice

1 322 10x 8 3 8 24 2 12

324 2 12 8

213 2 413 2

x 4 3 2

4 6 24 3 8
2 4

2 11 6
4 2 Tx 8 6

x 4 3 264 3



x 2 4 3

so 2 53 10 2 17 3
10 2 2 15 3
2 5 1 3 5 1

2 3 5 1

4 6 2
x 1 6 1 6 2 3

6 2 22 3x I
2 3 1 I 3 1 2x 1 3 1

5 3,5 11 20 3 20 60 4 15

3 2 4 15 20

x 3x a 563 4

x 5 3 4

Homework

Factorise

6 82 2x 15

7 3 2 5 2

8 4 2 16 15

9 7 2 5 2

10 6 2 19 15


